GMAT Sentence Correction Practice Paper 3

Question 1
Heavy commitment by an executive to a course of action,
especially if it has worked well in the past, makes it likely to miss

signs of incipient trouble or misinterpret them when they do appear

A. Heavy commitment by an executive to a course of action,
especially if it has worked well in the past, makes it likely to miss
signs of incipient trouble or misinterpret them when they do appear.

B. An executive who is heavily committed to a course of action,
especially one that worked well in the past, makes missing signs of
incipient trouble or misinterpreting ones likely when they do appear.

C. An executive who is heavily committed to a course of action is
likely to miss or misinterpret signs of incipient trouble when they do
appear, especially if it has worked well in the past.

D. Executives’ being heavily committed to a course of action,
especially if it has worked well in the past, makes them likely to
miss signs of incipient trouble or misinterpreting them when they do
appear.

E. Being heavily committed to a course of action, especially one
that has worked well in the past, is likely to make an executive miss
signs of incipient trouble or misinterpret them when they do appear.

Question 2

In no other historical sighting did Halley’s comet cause such a
worldwide sensation as_did its return in 1910-1911
(A) did its return in 1910-1911

(B) had its 1910-1911 return



(C) in its return of 1910-1911
(D) its return of 1910-1911 did
(E) its return in 1910-1911

Question 3
Combining enormous physical strength with higher intelligence, the

Neanderthals_appear as equipped for facing any obstacle the

environment could put in their path, but their relatively sudden
disappearance during the paleolithic era indicates that an inability

to adapt to some environmental change led to their extinction.

(A) appear as equipped for facing any obstacle the environment
could put in their path,

(B) appear to have been equipped to face any obstacle the
environment could put in their path,

(C) appear as equipped to face any obstacle the environment could
put in their paths,

(D) appeared as equipped to face any obstacle the environment
could put in their paths,

(E) appeared to have been equipped for facing any obstacle the
environment could put in their path,

Question 4
Emily Dickinson’s letters to Susan Huntington_Dickinson were
written over a period beginning a few years before Susan’s




marriage to Emily’s brother and ending shortly before Emily’s death
in 1886, outnumbering her letters to anyone else.

(A) Dickinson were written over a period beginning a few years
before Susan’s marriage to Emily’s brother and ending shortly
before Emily’s death in 1886, outnumbering

(B) Dickinson were written over a period that begins a few years
before Susan’s marriage to Emily’s brother and ended shortly
before Emily’s death in 1886, outnumber

(C) Dickinson, written over a period beginning a few years before
Susan’s marriage to Emily’s brother and that ends shortly before
Emily’s death in 1886 and outnumbering

(D) Dickinson, which were written over a period beginning a few
years before Susan’s marriage to Emily’s brother, ending shortly
before Emily’s death in 1886, and outnumbering

(E) Dickinson, which were written over a period beginning a few
years before Susan’s marriage to Emily’s brother and ending
shortly before Emily’s death in 1886, outnumber

Question 5
The 32 species that make up the dolphin family are closely related
to whales and in fact_include the animal known as the killer whale,
which can grow to be 30 feet long and is famous for its aggressive
hunting pods.

(A) include the animal known as the killer whale, which can grow to
be 30 feet long and is



(B) include the animal known as the killer whale, growing as big as
30 feet long and

(C) include the animal known as the killer whale, growing up to 30
feet long and being

(D) includes the animal known as the killer whale, which can grow
as big as 30 feet long and is

(E) includes the animal known as the killer whale, which can grow
to be 30 feet long and it is

Question 6
Last week local shrimpers held a news conference to take some
credit for the resurgence of the rare Kemp'’s ridley turtle, saying
that their compliance with laws_requiring that turtle-excluder

devices be on shrimp nets protect adult sea turtles.

(A) requiring that turtle-excluder devices be on shrimp nets protect

(B) requiring turtle-excluder devices on shrimp nets is protecting

(C) that require turtle-excluder devices on shrimp nets protect

(D) to require turtle-excluder devices on shrimp nets are protecting

(E) to require turtle-excluder devices on shrimp nets is protecting
Question 7

According to a survey of graduating medical students conducted by

Association of American Medical College, minority graduates are

nearly four times more likely than are other graduates in planning
to practice in socioeconomically deprived areas.




(A) minority graduates are nearly four times more likely than are
other graduates in planning to practice

(B) minority graduates are nearly four times more likely than other
graduates who plan on practicing

(C) minority graduates are nearly four times as likely as other
graduates to plan on practicing

(D) it is nearly four times more likely that minority graduates rather
than other graduates will plan to practice

(E) it is nearly four times as likely for minority graduates than other
graduates to plan to practice

Question 8

Starfish, with anywhere from five to eight arms, have a strong
regenerative ability, and if one arm is lost it quickly replaces it,
sometimes by the animal overcompensating and growing an extra
one or two.

(A) one arm is lost it quickly replaces it, sometimes by the animal
overcompensating and

(B) one arm is lost it is quickly replaced, with the animal sometimes
overcompensating and

(C) they lose one arm they quickly replace it, sometimes by the
animal overcompensating,

(D) they lose one arm they are quickly replaced, with the animal
sometimes overcompensating,

(E) they lose one arm it is quickly replaced, sometimes with the
animal overcompensating,



Question 9
Marconi’'s conception of the radio was as a substitute for the
telephone, a tool for private conversation; instead, it is precisely the
opposite, a tool for communicating with a large, public audience.

(A) Marconi’'s conception of the radio was as a substitute for the
telephone, a tool for private conversation; instead, it is

(B) Marconi conceived of the radio as a substitute for the
telephone, a tool for private conversation, but which is

(C) Marconi conceived of the radio as a tool for private
conversation that could substitute for the telephone; instead, it has
become

(D) Marconi conceived of the radio to be a tool for private
conversation, a substitute for the telephone, which has become

(E) Marconi conceived of the radio to be a substitute for the
telephone, a tool for private conversation, other than what it is,

Question 10

Between 1990 and 2000 the global economy grew more than it did
during the 10,000 years from the beginning of agriculture to 1950.

(A) Between 1990 and 2000 the global economy grew more than it
did during the 10,000 years from the beginning of agriculture

(B) Between 1990 and 2000 the growth of the global economy was
more than that during 10,000 years, from when agriculture began



(C) The growth of the global economy between 1990 and 2000
exceeds that which had been for 10,000 years from the beginning
of agriculture

(D) The growth of the global economy between 1990 and 2000
exceeds what it has been for 10,000 years, from when agriculture
began

(E) The growth of the global economy between 1990 and 2000
exceeded what it did for the 10,000 years from the beginning of
agriculture

Question 11
Out of America’s fascination with_all things antigue have grown a
market for bygone styles of furniture and fixtures that are bringing
back the chaise lounge, the overstuffed sofa, and the claw-footed
bathtub.

(A) things antique have grown a market for bygone styles of furniture
and fixtures that are bringing

(B) things antique has grown a market for bygone styles of furniture and
fixtures that is bringing

(C) things that are antiques has grown a market for bygone styles of
furniture and fixtures that bring

(D) antique things have grown a market for bygone styles of furniture
and fixtures that are bringing

(E) antique things has grown a market for bygone styles of furniture and
fixtures that bring

Question 12

Unlike most severance packages, which require workers to stay until the last day scheduled to
collect, workers at the automobile company are eligible for its severance package even if they
find a new job before they are terminated.




the last day scheduled to collect, workers at the automobile company are eligible for its
severance package

the last day they are scheduled to collect, workers are eligible for the automobile
company’s severance package

their last scheduled day to collect, the automobile company offers its severance package
to workers

their last scheduled day in order to collect, the automobile company’s severance package
is available to workers

the last day that they are scheduled to collect, the automobile company’s severance
package is available to workers

Question 13

The growth of the railroads led to the abolition of local times, which was determined by when the

r's meridian and differing from city to city, and to the establishment of

regional times.

A.
B.

C.
D.
E.

which was determined by when the sun reached the observer’s meridian and differing
which was determined by when the sun reached the observer’s meridian and which
differed

which were determined by when the sun reached the observer’s meridian and differing
determined by when the sun reached the observer’s meridian and differed

determined by when the sun reached the observer’s meridian and differing

Question 14

In the U.S., German luxury brands have succeeded in getting people

who might have once thought the cars were out of their league in

buying and leasing some snhazzy rides.

A. have succeeded in getting people who might have once thought

the cars were out of their league in buying and leasing some
shazzy rides

B. have succeeded in getting people who might have once thought

the cars were out of their league to buy and lease some snazzy
rides



C. have succeeded in getting people who once might have thought
the cars were out of their league to buy and lease some snhazzy
rides

D. has succeeded in getting people who might have once thought
the cars were out of their league to buy and lease some shazzy
rides

E. has succeeded in getting people who might have once thought
the cars were out of their league in buying and leasing some
shazzy rides

Question 15
Reporting a 90 percent drop in net income during the second quarter,

dragged down by restructuring charges and weak sales, the earnings
guidance for the year was withdrawn by Best Buy Co.

A. Reporting a 90 percent drop in net income during the second
quarter, dragged down by restructuring charges and weak sales,
the earnings guidance for the year was withdrawn by Best Buy
Co.

B. Best Buy Co. is reporting a 90 percent drop in net income during
the second quarter, dragged down by restructuring charges and
weak sales; the company also withdrew its earnings guidance
for the year.

C. Reporting a 90 percent drop in net income during the second
quarter and dragged down by restructuring charges and weak
sales, Best Buy Co. withdrew the earnings guidance for the year.

D. Best Buy Co. has reported a 90 percent drop in net income
during the second quarter, dragged down by restructuring
charges and weak sales; the company has also withdrawn its
earnings guidance for the year.




E.

Best Buy Co. is reporting a 90 percent drop in net income during
the second quarter, dragged down by restructuring charges and
weak sales; the company has also withdrawn its earnings
guidance for the year.

Question 16
Thieves steal Hondas and Toyotas from the 1990s more than other

models because they can chop them up and sell them for parts that

are worth more than the car.

A

more than other models because they can chop them up and
sell them for parts that are worth more than the car

. more than they steal other models because they can chop them

up and sell them for parts that are worth more than the car

. more than they do other models because they can dismantle

the cars and sell the parts that are worth more than the car
more than other models because they can chop the cars up and
sell them for parts that are worth more than the car

. more than other models because they can dismantle them up

and sell them for parts that are worth more than the car

Question 17
Recently, hopes that the European Central Bank will reach a deal to

help Spain and Italy borrow at cheaper rates has nudged financial

markets higher.

A

B.

Spain and Italy borrow at cheaper rates has nudged financial
markets higher

Spain and Italy borrow at cheaper rates have nudged financial
markets to higher levels



C. Spain and Italy borrow at cheaper rates has nudged financial
markets to higher levels

D. Spain and Italy borrow at cheaper rates nudged financial
markets to higher levels

E. Spain and Italy borrow at cheaper rates nudged financial
markets higher

Question 18

Fought on 22 August 1485, the Lancastrians won The Battle of
Bosworth Field, the last significant battle of the Wars of the Roses, the
civil war between the House of Lancaster and the House of York that
raged across England in the latter half of the 15th century.

A. Fought on 22 August 1485, the Lancastrians won The Battle of
Bosworth Field, the last significant battle of the Wars of the
Roses, the civil war between the House of Lancaster and the
House of York that raged across England in the latter half of the
15th century

B. Fought on 22 August 1485, The Battle of Bosworth Field- the
last significant battle of the Wars of the Roses, the civil war
between the House of Lancaster and the House of York that
raged across England in the latter half of the 15th century- was
won by the Lancastrians

C. Fought on 22 August 1485, the Lancastrians won The Battle of
Bosworth Field- the last significant battle of the Wars of the
Roses- the civil war between the House of Lancaster and the
House of York that raged across England in the latter half of the
15th century

D. The Lancastrians won The Battle of Bosworth Field, fought on
22 August 1485, the last significant battle of the Wars of the
Roses, the civil war between the House of Lancaster and the




House of York that raged across England in the latter half of the
15th century

E. The Lancastrians won The Battle of Bosworth Field, which was
fought on 22 August 1485; it was the last significant battle of
the Wars of the Roses- the civil war between the House of
Lancaster and the House of York that raged across England in
the latter half of the 15th century

Question 19
Unlike Ancient Greek art which saw the veneration of the animal form

and the development of equivalent skills to show musculature, poise,
beauty and anatomically correct proportions, Ancient Roman art
depicted gods as idealized humans, shown with characteristic
distinguishing features.

A. Unlike Ancient Greek art which saw the veneration of the animal
form and the development of equivalent skills to show
musculature

B. Ancient Greek art saw the veneration of the animal form and
the development of equivalent skills to show musculature

C. While Ancient Greek art saw the veneration of the animal form
and developed equivalent skills to show musculature

D. While Ancient Greek art venerated the animal form and
developed equivalent skills to show musculature

E. Unlike Ancient Greek art which venerated the animal form and
the development of equivalent skills to show musculature

Question 20



In addition to being convenient, affordable, and versatile, legumes are
also full of fiber, vitamins, key minerals and plant protein, plus their

antioxidant levels rival berries.

A. In addition to being convenient, affordable, and versatile,
legumes are also full of fiber, vitamins, key minerals and plant
protein, plus their antioxidant levels rival berries

B. Legumes are not only convenient, affordable, and versatile but
are also rich in fiber, vitamins, minerals, plant protein, and levels
of antioxidants that rival those of berries

C. The convenient, affordable, and versatile legumes are, in
addition to rivalling berries for antioxidant levels, full of fiber,
vitamins, minerals, and plant protein

D. Not only are they convenient, affordable, and versatile, legumes
are rich in fiber, vitamins, minerals, and plant protein, rivalling
berries in antioxidant levels

E. Legumes, in addition to being convenient, affordable, and
versatile, are rich in fiber, vitamins, minerals, and plant protein
and rival berries in antioxidant level







